Natio;.;i

Hardware"

6-1/4"
158,8 mm P
11/32" 0 19/32"
"I r'&e mm 15 mm
| vy
------- S
5/16" 1-5/8"
7,9mm 41,4 mm . N
' £ |
L 7 v —
) 7/8"
22,5 mm
1-3/16"
11-3/32" 30,1 mm —j¢ >
< 2814 mm —— 1"
3.95/30" 25,4 mm —< >

—— 95,9 mm ——»
1-5/32" Y
"]29,5 mml‘" 4-3/16"
T T

¢— 106,8 mm —— > 8-15/16"

O O 227 mm
4

JIKE

y " 11/16" >
' 9,4 mm 7-11/16"
195,6 mm
" ™\
6-23/32" 0 g’;fm \‘@
170,7 mm
' 1 Ll
@/ o (] 4-15/16 —— \\
A5/46" N )
125,7 mm —————— . 0 ;14'32 \
5-1/4" L T B LGY| semm
133,4 mm 25,4 mm 6-11/32" '
l < 161mm ——————————P» 2-3/16"
55,9 mm (C

: : U Q 11/32" l (

—>| |<— 8,5 mm g-1/2"

916" |q 2158mm ———» v 116"
14,1 mm 1,9 mm —plle—

Material: Steel

Finish: Black

Fasteners: (18) Lag Screw, Hex Head, 5/16" x 2"

(2) Lag Screw, Hex Head, 1/4" x 1-1/2"

(1) Bolt, Hex Head, 5/16" x 1-1/4"

Page 1 of 2 (1) Nut, Hex, 5/16" - 24, UNC-2B

1 DO NOT SCALE V867 N109-015

Revision Dimensions are nominal Family No. SKU
September 2015 and subject to change. Gate Kit
Date ©2015 Spectrum Brands, Inc. Description




Natio;.;i

Hardware"

4-17/32"
114,8 mm

e

~
11/32" :
8,4 mm :
\MQMQ%
\/x/\
1-3/32" ¢ I
28,1 mm
33132
101,1 mm
< 6-31/32" >
177,3mm
< 7-7/8" N
200,4 mm
8-7/32" »
208,5 mm
15-25/32" R
400,9 mm
Material: Steel
Finish: Black
Fasteners: (18) Lag Screw, Hex Head, 5/16" x 2"
(2) Lag Screw, Hex Head, 1/4" x 1-1/2"
(1) Bolt, Hex Head, 5/16" x 1-1/4"
Page 2 of 2 (1) Nut, Hex, 5/16" - 24, UNC-2B
1 DO NOT SCALE V867 N109-015
Revision Dimensions are nominal Family No. SKU
d subject to change. .
September 2015 and subject fo change Gate Kit
Date ©2015 Spectrum Brands, Inc. Description




	N109-015
	N109-015-2

